ECE 1270 HOMEWORK #5 prob 2 solution
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Find the absolute voltages at all the labeled nodes in the above circuit.
SOL'N: Starting at the reference Mede | wie

o
SR oy values of wvoliage sources that

f2ehnect npded,

Meote: The dAifferende Lrn absolute wal taqe
cetween Two RoAcs 1S egunl +e a valfage
w ol
T';I:'H r¢ g I-".l::l |I 4 =8 L:r' g—_‘h =E LB H |._I:2_. = "u"-j'.l |I. |I_I'-1.I-‘i @
—_— -\.|I -

E)

Sourde  hetween  khe noades.  TE dhers
L =4 |_ SO r I;_"ﬂ..:_.‘_'-..'l:n:l' ._ n e I|'_ B L !.i.__J,I T.I'.C
'-f"':'ln"!'-ﬂ‘-'-[ £ oUTEE bhe 5?|I|-"-_|':':|':E.-‘-P_,r1 de n the pade

l-"'-".l'.'!'-":l:.':"":l'; [ ] +_J}.||:-qullll'l:.:". .l':-ﬂf {jmi -I'_,I'g "EJHE
! -

raf e " »
valtage  searce  value. (1he exception wouled

be The rare dase  whey e ddrrent L

The reiister L5 eg wal  te  2eprn.

"|EI-E; 1"_l"1-_'rrlg..-' r-:l.-_-,llfe.'a. .'!‘.df&lls-Edj +a bhe
Connected to anstler Nadle é},‘r a  uoftge

'

= {or itk g : .
soMree, lwokheut 4 series  resisdar).



ThU. =5 ] V =

We alss

Y4
Thus,

ALre s

-t

Vo

From  the v, nede,

FE WA Lh LA

=

-F
L

the.

v

ned eds

v — 5V =

F=1T4
LW

+ la L

Y

we stkep

ray

Saurde,

cohnedted

N

= kv, n:-'J:'L.q_.g:I: to the

shgerve that paded
e rmli_l.r:,f A Slng
pade  akeye the gV

nade .

Sau e

Lo the

LS !

.'I? -



